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COMPUTER SCIENCE/ COMPUTER
' APPLICATION /INFORMATION TECHNOLOGY
* (Honours Generic/Regular)
For Honours Generic
Answer the Questions from any one Option.

" OPTION-A - - -
( Programming in Visual Basw/Gambas )
- Paper. : CSC—HG—4016 -

- : OPTION -B .
( Informatton Security and Cyber Laws)
‘ Paper : CSC—HG—4026 '

B ' OPTION-C
Ut ( Web and E-commerce Technologies )
Paper : CSC—HG—4036 o :

. OPTION-D .
' ( Computer System Architecture )
Paper : CSC—HG—4046/ CSC—RC—40 16

OPTION -
- (Introduction to Database Management Systems)
Paper : CSC-HG-4056 /TCA—HG/RC—4016/TIT—RC 4016
Full Marks : 60 :
Time : Three hours
The figures in the margin mdzcate -
Sull marks for the questtons

Answer either in Englzsh or iri Assamese.
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« OPTION-A.
| Programming in Visual Basic/Gambas )
- Paper : CSC—HG~—4016 |

-~

1. Answer the followmg questmns o 1xT7=T7 |
(a) VB is a _ programming
language. ‘ '

i) Procedural
(i) Object-onented
(iii) Even driven

iv) None of the above
- (lel in the blank)

() In VB a variable name cannot be: more
" than . characters.

() 255 S

() 300

(i) 125

" iv) 400

(c) IDE stands for
()" International Development -

Environment - :
(i) Integrated Development
. Environment .
(i) Integrated Deployment
- . Environment .

. (iv) Information Delayed Environment
| (Choose the correct answer)

-

RC/TCA HG/RC/TIT RC/G )

| (Pl in the blank)

@l _ function converts a
number to a string..
) ostr()
(ii) ucase()'
(@) val()

(iv) None of the above |
| (Fill in the blank) -

(e) Constant variable_i$ fixed size of value. .

. (True/ False)
() The file extensmn of a prOJect file is |
- .vbp. . A .~ (True/False)
(g9) The functlon procedures are by default
- private. - N (True/ False)
2. Answer the fOllOWlng questlons : 2x4=8

. (a) Deﬁne scope of a variable. ‘What is  the
use of Boolean type Vanable? Give an
example. | :

(b) What.is dynamic array? erte its
syntax. " ' ‘

(c) How to change font size and font colour
in VB? -
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(d) “Write the fdifferen'ce between s.ub
procedure and function procedure.

3. Answer any three of ‘the following .
'questlons o . 5x3= 15'

,(a)l» Explam the properties, ‘events related
- and method associated with button, list
* - box and combo. box in VB..

| ‘ " (b) Write the dlfference between private and
e ,pubhc sub procedure

| (d) ’that is FORM"’ How to customlze a
FORM? |
_ (é)' What 1s the usage of checkbox and
' ' image box controls? Explam with an
‘ exarnple .

4, Answer any three of the followmg
'questlons ‘ : ' .3x10=30

(@) Write a VB program to accept student
details such as name, department, total
marks and validate the input data’and
calculate the percentage and division.

. 3(Sem 4/CBCS)CSC HG 1/2/3/4/5,
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: (C) , 4Br1eﬂy explaln data types of Support in.

m

(©

@

o)

Explain the comﬁ"o“nents of IDE.

' What ' is ActiveX Data’ Ob_]ects(ADO)'? :

Explain different tools used- to
implement ADO.

‘Explain the usage of dlfferent FORM .
events . . .

Write a VB program to f'md out the_ o
largest of given three 1nteger number '

| Wnte short notes on the followmg

i) MDI Form .

v‘j

(u) Crystal and Data Report
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OPTION - B

(Informatzon Security and Cyber Laws )

'(b) What is IP address ?
(¢ What is digital signature? ' {a) Expldin different types of cyber
. o ' e " attacks. . v
-(d) Define IP spoofing |
. (b) What do you mean by data encrypnon
(e) What is protocol ?. | | and decryptlon'? :
i/, Whlch one is an. appllcatlon layer - (c) . What are the ob_]eCthCS of cyber laws ?-
rotocol ?. .
: p ‘ (d) }What are dlfferent crimes happenmg :
; (l). . UDP ' in 3001al media ?
(ii) . TCP .(e) Explam how software based data
(i) IP security dlffers from physwal data
- (iv) HTTP ) secunty ', :
".'(g) What are cyber Iaws? Answer any three of the followmg

Paper CSC-HG—4026

1.  Answer the follow_mg quespon_s D 1xT7=7
@

What do you mean by cyber securityp

() What do you mean by threats and, ‘

‘attacks in cyber?"

'(c) ‘How does law dlffer from ethws?

(d) Why is information- secunty
important in todays hfe ?.

Ariswer any threel of - the followmg. B

 questions : _ : 5x3=15 |

questions . ’ ‘ 0><3-30

2. Answer the }following_ques,tions: | 2>54=8 : - (a) Explain bneﬂy about various applica-

tions of information security -and

(a What is 1 formafion secuﬁ ?
) 1at 1s 1n R ty threats in protectmg nnportant data
' 3(Sem 4/CBCS)CSC HGl/2/3/4/5
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(b) Explaln the followmg terms ": - OPTION - C

] Encodmg e L 3 PR Web and E-commerce Technologies )
. (ii), Decryption . T .+ Paper: CSC—HG—.4036
(i) Hashing techniques S © - SR — : :
‘ 1. Answer the following questio'n‘s o 1x7=7

. (c) . Explain about the processmg of secure
Informatlon with sultable example. '

(a) . What is E-commerce ?.
(d) . What do you . mean by Firewall ? (b}, »What is Intemet'P -

Explain, its functxons in E—commerce . (c)'_'_ Name any two network devtces

..) What is . the pnmal’y goal of (@ -WhatlSIntemetSeercePronder(ISP)'?'

Information  security ‘within.. gn
organization ?: ‘How do-you apply if to

ata soctirely’? (e) -‘What is Electromc Data Interchange :
protect data se i ‘

(EDI) ',) ,'.“:*‘-_'»_A P

(f) : Wnte any two types of electromc

0 ‘Write short riotes_ on any . two of the
payment system

followmg
(i) Software piracy =
(i) E-Wallet

(iii) - Security protocols

(g) What is dlgltal 31gnature ?

3

2. Answer the followmg questlons 2x4 8 .

. i) Blaek Box Testi'ng.‘ g (a) Name any two cbmputer cnmes
. S - e . () leferentlate between LAN and 'MAN. -

(¢) Write two apphcatlons of EDL

- (d) . What are authorlZatlon and.
) authentlcatlon in Internet secunty ?

3 (Sem—4/cscs;csc HG 1/2/3/4/5,
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3. Answer any three questions ‘from the

,’followmg e 5><3 15

(a) Descnbe the techmcal components of
E-commerce technologles

(). Wnte a vshort note -On Cfédit card ‘

system.

(c) What is payment gateway ? What is its
- -role in electronic payment services ?
(@ What is conip}iter v1rus° How does it

spread ? How can a computer system

be protected from computer virus? -

| (é)‘ DéScribé secret key cryptography and
f Dublic key encryption.'

4. Answer any three questions from the

 following : _ ' - 10x3=30
(@) Explam varlOus types of E- commerce :

(b) 'Discu_'ss ‘the problems and issues
_rel-ated to internet based E-commerece.

- (¢ How does electronic data’ 1nterchange
Work ? Explain.

3 (Sem- 4/CBCS)CSC HG 172/3/4/5,
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()

(o)

Discuss the issues related to enabling
,techn,ologies for SCM and-E-.commerce.' .

DlSC\.lSS the strategies. for developmg

electronic commerce. web s1tes

Explain the ‘AE‘-CYCle " of Internet
marketing. ‘ A X .
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g . OPTION-D.
- { Computer SystemArchitecture)
lPaper{:. CSC—HG—4046/ CSC*RC—4016 "

1. Fill in the blanks : ~  1x7=7 .

AT 52 o7 4T 8 |
(@ In Boolean algebra, A. (B+c) =

' Boolean algebra S A.(B+C) = “,' |

() In. Boolean algebra, lA+Bi

Boolea:n algebra @ 1A+B)

(¢ A is a sequentlal circuit which
o Cons1sts of smgle binary b1t

| sequentlal circuit © tﬂT':'T blnary
ﬁ% RS 17 AT |

is also’ known as a data

(@)

, selector

T data selector CﬁsﬁT 7T

) ____ _isa spec1al type of sequential
circuit used to count the pulse.

‘Pulse ﬂﬂﬁzﬁ JRT @A sequential |

circuits QM

3 (Sem- ~4/CBCSICSC HG 1/2/3
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. 3. Answer any three of the followmg |

" . 3 (Sem-4/CBCS|CSC HG 1/2/3/4/5, -

() Full form of DMAls
DMA ¥ ﬁ‘f-m"vri'éi ok

(@ Full form of MAR is
 MAR 3 7f 7t '<‘°“l N

: ,Deﬁné the followir‘l_gotet_'ms L. 2x4=8
'(a) Comb1nat10nal cn'cu1t
' '(b) Register ' |
. (¢ .Bus system

(@ Mlcro—operanon

YO

questions = .5x3= 15_

ﬁzanﬂrfﬁ?lm@mm

(a) Simplify the Boolean functmn
.F(A,B,C, D)= Z(o 12,3, 12, 13, 14 15)'
Boolean function o

}F(ABCD) 2(012312131415)

C@WWI
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: (b) Explain how floating pomt ‘numbers

are represented .

Floatlng point number @Tﬁ Cﬁﬂ?ﬁs fl?F—
s It 9 o

(c) ' Brle‘ﬂy explain mstr'irction cycle.

Instruction cycle WW 11

- (d) Explain miéroprongmed control.

Mlcroprogrammed control W 01

~ (6)' _What is addressmg mode ? Explam |

_ Addressmg mode e Wl

Answer any three of the followmg

 questions : ' - 10x3=30
Rtz st e sea ‘:%fau

(@) Draw the" logic diagram and explain -

working of 8 x 1 multiplexer.

8 x 1 multiplexer 3 dfe foq i Sy
Uiy i-prerd 0 4|

(b) * Write ‘a brief descnptlon of computer
registers. '

| Computer reg18ter @Nﬁ 12} ﬁﬁa‘T fEﬁITl

(c) What- is instruetion format ? 'EXplain; T

zero-address,  one-address, two-
‘address and three-address instruction
formats ‘

Instructlon format ﬁs? Zero-address,:
one-address;, two-address and three-
address 1nstruct10n format W 90|
(d) What are the modes of data transfer’»’
] Explaln each ' . .
" Data transfer 3 mode @N‘ ﬁ?? 8!6 ]33@- :
3o |

. (e) Describe arithmetic and loglcal micro-

o operatlons

Anthmetlc W loglcal rmcro operatlon@' '

et T

(/) Write short notes on: - '5x2=10

B (OIS Tt g
@) - Assembly language
(i) 1/O interface.

3 (Sem-4/CBCS)CSC HG 1/2/3/4/5, -
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OPTION E '
( Introduction to Database Management Systems )

" Paper : CSC——HG—4056
TCA—HG/RC—4016 o
TIT-RC-4016

L . ‘Answer the followlng questlons as directed :

1><77

' (a) A is a collectlon of- lnterrelated

data and a set of prograxns to access

. those data.

. w?lmslq access 21 AT @BF oMl

(T 3% 77 )

command is used to delete or

remove a table in database.

TG GIHIIRS. 3 (63 Q3 delete

| Wmata 2 ¥« A

. . e IR ’ﬁ )

(c) The . model uses a collection of

tables to represent both data and the
relatlonshlps among those data.

o data 9% (2 data I WigR

B

T bl AfSRy $Rat (OeT T

IR @] (0T 312 9T 7))
3 (Sem-4/CBCS|CSC HG 1/2/3/4/5, |
RC/TCA HG/RC/TITRC/G - 16

TR ST e R oﬁ

@)

(e)

'(g),

3 (Sem-4/CBCS|CSC HG 1/2/3/4/5,.
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Select is. an operator in relational

algebra. . (True/False)
Select tiCQ relatlonal algebra ® @Gt .
operator| - L CBYRR) ;
A foreign key cannot contain NULL.
value. o (True/False)

«Bi foreign . key v NULL T AR

ERICIE g

(W/ﬁ@f) |

ﬁ'-
v

" In one- to-one mappmg cardmahty,.
_entity in A-is assoc1ated with at most ,

one ent1ty in B and vice-versa. ~
. (‘I‘rue/ False)

One-to-one mapping cardlnallty o, A

. 4@ @l entity, B ¥ 3Kif¥% @51 . entity I
%Zﬂr@f%*aamwﬁﬂ@—‘l@w I

R

The participatio'n o'f an entlty set 'E in
a relationship” set. R is said to be
partial if every entity in E' participates
in at least one relatlonshlp in R. :

_ {True/False)
&EI%T relatlonsmp set R %, uﬂ%f entity set,
E ¥ participation 31 (¥t =7 partial. R

f Es‘ﬁf‘c‘wenuty R@W a5 AES
(W/ﬁzr) K

GHEARY [E|
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_2.. Define the terms : 2x4=8
- e fran g | T
(a) Database
(b)- DBMS
(J 'SQL
(d ERD. o
3. Answer any three of the féllo.wing
.-questions : - V Sx3=15

Rt o5 2 BT ol 2.

(@) What is data independence ?’ Bneﬂy
explain the logical data 1ndependence
property of DBMS.. ’

Data independence. W @Kﬁ ? DBMS ¥

logical data independence I ICE 53¢
AT /] | '
(b) Explain the'. basic éoncepts of entity-
. relationship data model. '
o Entity- relationship data model 3 ﬁ
aﬁw SIS aﬁf | |
. (¢} Briefly discuss the fundamental
Operations in relational algebra.

3(Sem-4/CBCS|CSC HG 1/2/3/4/5,
~ RC/TcA HG/RC/T[T RC/G 18

Relational algebra © : fundamental .

. operations 3 BRI e WT@TWT B

(d) How to convert an ER. dlagram to

relational schema"

" ER diagram tﬂm relatmnal schema [

- PP Tl %ﬁa A
(e) Briefly explam the advantages -of
DBMS. : '
DBMS ¥ sﬁw 2 0t -1
4. Answer any. three of the followmg :
_questlons 0 10x3= 30
RicreTt fofasr P Tl ﬁwt |

(a) Explain the DBMS archltecture with

suitable dlagram

TE  diagram I WS pBMS‘

architecture anzm 4
(b) DISCUSS the relauonal data model.

' Relational data model T ﬁm W
91

(_C) Explain the concept of pr1mary key

with~ suitable example How - is 1t
different from candidate key ?

3 (Sem-4/CBCSICSC HG 1/2/3/4/5, | .
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-

GG Wi (TS primary key I LIKAICH!
Yt F1M | Candidate key I 7RI ¥ @R
S |
- (d) What . is normalization in DBMS ?
¢ ... Describe 1NF, 2NF and 3NF w1th_
suitable examples. -

DBMS © normalization 2 @ﬂ'{@ .
“GH1RI4T (10 1NF, 2NF S 3NF 3901 41 | -
(e) Write the differences between :

| oMoy Tt

(a) Entity set and relatlonshlp set , )
(b) Strong entity and, Weak entity |

4,
(o) S1mple and composite attribute

. (d) Slngle-valued and multl-valued
' ‘attnbute '

(). What is a forelgn key" How is .it -
. different from prlmary key? . '

‘ Foreign 'key &2 Ed Prlmary key? 9@‘ :
RET 91%9 '
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